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Why did the armies of the British Eas

Indian soldiers — win consistently against the
armies of the then Indian rulers ? Give reasons.
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Describe the characteristics and types of primary rocks. (Answer in 150 words)
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coded weather warmnings for cyclone prone areas
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Discuss the meaning of colour-
given by India Meteorological Department. (Answer in 150 words)
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Discuss the natural resource potentials of ‘Deccan Trap’. (Answer in 150 words)
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Given the diversities among tribal communities in India, in which specific contexts
should they be considered as a single category ? (Answer in 150 words)
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The political and administrative reorganization of states and territories has been a

~— continuous ongoing process since the mid-nineteenth century. Discuss with
examples. (Answer in 250 words) 15
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/ Discuss the main contributions of Gu
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_— Discuss the significance of the lion and bull figures in Indian mythology, art and
architecture. (Answer in 250 words) 15
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What are the forces that influence ocean currents ? Describe their

role in fishing
industry of the world. (Answer in 250 words)
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—— Analyse the salience of ‘sec

t’ in Indian society vis-a-vis caste, region and religion.
(Answer in 250 words)
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Are tolerance, assimilation and pluralism the key elements in the making of an
=i Indian form of secularism ? Justify your answer. (Answer in 250 words) 15
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